
COZ Block 2
Due: 11:59pm on Friday, September 17, 2010

Note: You will receive no credit for late submissions. To learn more, read your instructor's Grading Policy

[Switch to Standard Assignment View]

  

COZ Block 2 - Problem 1

The airstroke actuator at D is used to apply a force of  on the member at B. The normal reaction of the smooth shaft at C on the member is 

400 . 

Part A

Determine the horizontal and vertical components of reaction at pin A.

Enter your answers numerically separated by a comma.

ANSWER:   ,   = Answer not displayed    

  

COZ Block 2 - Problem 2

The jib crane is supported by a pin at C and rod AB. 

Part A

If the load has a mass of 2.2  with its center of mass located at G, determine the horizontal and vertical components of reaction at the pin 

C when .

Enter your answers numerically separated by a comma.

ANSWER:   ,   = Answer not displayed    

  

COZ Block 2 - Problem 3

Part A

Determine the force  needed to pull the 40  roller over the smooth step. Take . 

Express your answer with the appropriate units.

ANSWER:     = Answer not displayed
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COZ Block 2 - Problem 4

Part A

Determine the force in cable AB needed to lift the tractor which has a mass of 2 . 

Express your answer with the appropriate units.

ANSWER:     = Answer not displayed

  

COZ Block 2 - Problem 5

The three outer blocks each have a mass of 2 , and the central block E has a mass of 3 . 

Part A

Determine the sag  for equilibrium of the system.

Express your answer with the appropriate units.

ANSWER:     = Answer not displayed

  

COZ Block 2 - Problem 6

The circular door has a weight of 230  and a center of gravity at G. 

Part A

Determine the x, y, z components of reaction at the hinge A in equilibrium. Set .

Enter the x, y, and z components of the force separated by commas.
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ANSWER:   , ,   = Answer not displayed    

Part B

Determine the force acting along strut CB.

Express your answer with the appropriate units.

ANSWER:     = Answer not displayed

  

COZ Block 2 - Problem 7

Part A

Determine the components of reaction acting at the smooth journal bearing A. 

Enter the x, y, and z components of the force separated by commas.

ANSWER:   , ,   = Answer not displayed    

Part B

Determine the components of reaction acting at the smooth journal bearing B.

Enter the x, y, and z components of the force separated by commas.

ANSWER:   , ,   = Answer not displayed    

Part C

Determine the components of reaction acting at the smooth journal bearing C.

Enter the x, y, and z components of the force separated by commas.

ANSWER:   , ,   = Answer not displayed    

Score Summary:
Your score on this assignment is 0%. 
You received 0 out of a possible total of 10 points.
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